Installation Instructions - Extendable Drive Shaft Assembly

v

STEP 1: Insert extendable drive shaft assembly into end of roll

tube, aligning notch in housing with screw in roll tube.
S\

EXTENDABLE
DRIVE SHAFT

HOUSING

STEP 2: Hold spline straight and weld all around. Weld short

beads and let cool, then fill weld between beads.

HOLD SPLINE

WELD ALL AROUND STRAIGHT

NOTE: Keep weld splatter and
heat away from tarp and trailer.

PO BOX 713 = 2309 SHUR-LOK STREET
YANKTON, SOUTH DAKOTA 57078-0713
PH. 1-800-474-8756 = FAX 605-665-0501

P/N 1126189 Rev. A

Item Part #

1126182
1126183
1126187
1703487
1700419
1700736

Description

Extendable Drive Shaft Assembly - 25 1/2”
Extendable Drive Shaft Housing - 2" x 7"
Extendable Drive Shaft - 25 1/2"

Cap Screw - 5/16" x 1 1/2"

Nylon Lock Nut - 5/16"

Self-Tapping Screw - 1/4" x 1/2"

oo~

STEP 3:

To fasten tarp to roll tube, remove existing screw and
U-clamp at end of roll tube. Replace U-clamp and secure
with supplied 1/4" x 1/2" self-tapping screw.

ROLL TUBE/EXTENDABLE
DRIVE SHAFT

U-CLAMP

1/4" x 1/2" SELF-
TAPPING SCREW

NOTE: Always store extendable drive shaft assembly with
spline in collapsed position.

NOTE: To prevent rust, paint all exposed metal, such as
weld seams and/or metal exposed by grinding or cutting, with

corrosion-resistant paint.

SHUR-CO® HELP LINE
CALL: 1-866-748-7435
www.shurco.com



